Solution to Puzzle #118 — March, 2011 '"Decuple"
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In the grid above, the Roman numeral X replaces the letter sequence TEN

(in parentheses in the list below) in all the words in which it occurs.

Across
(TEN)DER
ALIMENT
SUNG
MARINE
RIDDLE
MAR(TEN)
MOLE
DEFILE
SORE

. CANE

. SALE

. SALAD

. AT(TEN)DANT

. VIR

. BUTTE

. RILE

. TOIL

. LONELY

. LA(TEN)T

. DERIDE

. BONE

. TASS

. NOTIFY

. SERAPE

. LIS(TEN)
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(TEN)SILE
LITANY
DUDE
CARO(TEN)E
SEND

DAD

BITTER
GLEN

AULD

. ARAME

. FETTLE

. SALAMI

. S(TEN)TOR
. SPIRAL

. ADENINE
. MIRE

. LAREDO
. LEN(TEN)
. SENILE

. TINE

. MOSTLY
. BISTRO

. RAVEL

. OF(TEN)

Kevin Wald solved the puzzle in 16 minutes.



